
Thank you for your purchase of Ikelite equipment. Please read this instruction
manual completely before attempting to operate or dive with this product.

Base Extension + Release Handles /
Base Extension 
Product Numbers 4077.01, 4077.02, 4077.03

QTY. 1 = 0611.29 Base Extension

Bottom View

Top View

Side View

 Qty. 2 = 0212.17 1/4” Thin Flat Washer
 Qty. 2 = 0212.16 Other Plastic Washer

 Qty. 2 = 0212.11 Split Lock Washer
 Qty. 2 = 0212.1 Other Lock Washer

 Qty. 2 = 0213.51 
 1/4-20 x 1/2 Socket Cap Screw

 Qty. 1 = 1/8” Hex Head Wrench



2

x 2 x 2

9531.3 Left Quick 
Release Handle

0213.51 1/4-20 x 1/2 Socket Cap Screw

0212.1 1/4” Split Lock Cap Washer

0212.16 1/4” Thin Flat Washer

0611.29 Aluminum DSLR Handle Extension

9531.4 Right Quick 
Release Handle

Attach Base Extension with Handles to Base
(tighten with 1/8” hex head wrench)

© 2016 Ikelite Underwater Systems

Ikelite Underwater Systems
50 West 33rd Street

Indianapolis, IN 46208 USA

ikelite.com

4077.01-02-03_Base_Extension_/_Handles_1-0316

1/8” Hex Head Wrench



3

4077.03 BASE EXTENSION for RELEASE HANDLE
INCLUDED IN KIT

x 2 x 2

Attach Base Extension with Handles to Base
(tighten with 1/8” hex head wrench)



LIMITED WARRANTY
 This Ikelite product is warranted against any manufacturing defects for a 

period of one (1) year from the original date of purchase. Defective products 
should be returned to Ikelite postage paid. Ikelite will, at its sole discretion, 
repair or replace such products, and will return to customer postage paid. 
All other claims of any nature are not covered. Except as mentioned above, 
no other warranty expressed or implied applies to this Ikelite product.

CUSTOMER SUPPORT
Ikelite Underwater Systems
Service Department
50 West 33rd St.
Indianapolis, IN 46208 USA

Email: ikelite@ikelite.com  

Phone: 317-923-4523

© 2016 Ikelite Underwater Systems

Ikelite Underwater Systems
50 West 33rd Street

Indianapolis, IN 46208 USA

ikelite.com

4077.01-02-03_Base_Extension_/_Handles_1-0316




